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Quiz:  China’s Tech Totalitarianism 

 Directions:  Select the answer that best completes the sentence. 

1)  To punish citizens for not wearing face masks outdoors in accordance with coronavirus regulations, 

Chinese authorities _______________________. 

A) welded their doors shut 
B) took away their internet access 
C) tied them to posts 
D) jailed them 

 

2)  The Chinese government uses 200 million cameras and electronic eavesdropping 

_______________________. 

A) for coronavirus tracing 
B) to keep citizens safe from violence 
C) for market research 
D) to determine the political leanings and social interactions of Chinese citizens 

 

3) In China, criticizing the government, playing lots of video games, and watching pornography 

_______________________. 

A) are encouraged behaviors because they demonstrate the freedom Chinese citizens have 
B) does not impact life of Chinese citizens 
C) results in lower trust scores, slower internet speeds, and travel restrictions on citizens 
D) results in citizens being sent to re-education camps 

 

4)  The coronavirus began in China and spread farther because the Chinese government did all of the 

following except _______________________. 

A) suppressed information about the virus 
B)  denied the virus could be spread between humans 
C) punished scientists who told the truth about the virus 
D) quickly isolated infected individuals 
 

5) A main idea of this video is that _______________________.  

A) we should not care what the Chinese government does to its citizens 
B) Repressive government controls, such as in China, should not be instituted in the United States  
C) Chinese authorities need to control their citizens more because of the size of their population 
D) Chinese citizens are safer than U.S. citizens because of the extra government surveillance   

 

 

 

 

 

 

 



China’s Tech Totalitarianism – Answer Key: 

1.  C 

2.  D 

3.  C 

4.  D 

5.  B 


